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[cos(3x) dx =
(A) -3sin(3x) +C
(B) —%sin(lt) +C

@ %sin(3x) +C

(D) sin(3x) +C
(B) 3sin(3x)+C
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3. The function f is defined above. For what value of k, if any, is f continuous at x = 2 ?

A) 1l
(B) 2

g% d-(+4=7

(E) No value of k& will make f continuous at x = 2.
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4. If f(x) =g cos'(4x); then f'(x) =

gﬁi:lx)sm) [3 wi’ 4>(1P =i 4{& [ ¢_l

(C) -3cos’® (4x)sin(4x)

(D) 12c05" (4x)sin (42) =il 0 B " 4 x sm §x
(E) —4sin’(4x)



5. The function f given by f(x) = 2x> — 3x® — 12x has a relative minimum at x =
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6. Let f be the function given by f(x) = (2x — 1)°(x + 1). Which of the following is an equation for the line
tangent to the graph of f at the point where x =17?

(A) y=2Ix+2
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B) %e’f +C
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(D) Wxe”™ +C
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X 0 2 4 6

f(x) 4 k 8 12

8. The function f is continuous on the closed interval [0, 6] and has the values given in the table above.
6
The trapezoidal approximation for Io f(x) dx found with 3 subintervals of equal length is 52. What
is the value of k ?

(A) 2 (B) 6 ©) 7 E) 14
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9. A particle moves along the x-axis so that at any time ¢ > 0, its velocity is given by v(t) = 4 — 6¢2, If the
particle is at position x = 7 at time ¢ = 1, what is the position of the particle at time ¢t =2 7
(A) -10 ®) -5 @ D) 3 (E) 17
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10. The function f is given by The figure above shows a portion of the graph of f. Which of the
following could be the values of the constants a and b ?
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B) a=2, b=-3 X X-}-}-b )
(C)a=2 b=-2

D) a=3 b=-2
() a=3, b=4 4*\330
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11. What is the slope of the line tangent to the graph of y = :_” atx=1?
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12.1 /() = 2 and f(V) = 5, then f(e) =
L .
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the differential equation with the initial condition

(A) y

o
(B) y=1—}/

15. The slope field for a certain differential equation is shown above. Which of the following could be a solution to
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16. If !E’(x) |x -2, ,whlch of the following could be the graph of
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